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SECTION-A

(@) 5(x + 2)

(c) 6x — 2

(@) x multiplied by 5
(c) 3x

(d) 4x

(c) 4x

(b) 2x + 3

(d)5x6

(b)3x+ 6

10.(b) 7
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SECTION-B

11.(a) x + 9 (b) 2y — 4
12. Variable: x

Expression: 2x — 6
13. Expression: 2x + y?
Putvalues,x =3 andy =4
2x3+(4)(4)=6+16=22
14.2(a+b) +3a=2a+2b+3a =5a+2b

SECTION-C

15. Expression: 5x +3 —2x+4x—1 andx =2

OnSolving: 7x+2=7(2)+2=14+2 =16



16. This is a multiplication pattern: 3,6,9,12
Each term = 3(n)

(a) General term= 3n
(b) 10™" term= 3x10=30

17. (a) One notebook cost X25
x notebooks cost= 25(x)
(b)y notebooks cost= 25y
1 pen cost=3X10
Total cost = 25y+10
SECTION-D
18. (a) Expression for total cost: X3x + I5y + X2z
So, Expression: 3x + 5y + 2z
(b)Already simplified
(c) Substitute values: x=4, y=3, z=5
3x= 3x4=12
5y=5x3=15
2z=2x5=10
Now add: 12+15+10= X37
SECTION-E
19. (a) 8x2=16
(b) Multiplication: 4x2=8
(c)(6+2)=8
8x5=40
40-3=37

Brackets are solved first, then multiplication, then subtraction. BODMAS ensures
correct order.



OR

Correct: 2x3=6

7+6=13

13-1=12

Student’s way: (7+2) =9

(3-1) =2

9x2=18, which is wrong

20. (a) Total distinct customers= p +q + r (flags=same number as customers)
(b) p=10, g=15, r=5

Putting the values we get, 10+15+5= 30 flags

(c) 2r means double , which is wrong



